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for the quesüons

Paper: GE-l (A)

( Differential Calculus I

FYII Marks:80
P"ts Markt; g2

Time :3 hours

1. (a) c+O¡r ebr rE-{' / <T q's{ [q b]v qd<&F

R[<t fi rrrcr E{ ?

When is a function f said to be
continuous in a closed interval [q b)?

(b) eq< R .{n* qün qrq fr.fr T-{T :

Evaluate arly one of the following :

(ü lirr, "" -t"t"x-+0 ,C _ Srn ,C

ranx- x(iü lim "'' x-+0 x_sinx
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(16 
1

Evaluate the integral of the product

ltur)1tu+)
ta"Ji,a"J

at the Point (n ü = Q,41.

6. (a) What are the different types of partial
differential equations? Write their field
in applications.

(b) Find the solution of the boundary value
problem

O2u O2u l+e'
:.a:]+:_;i_ =0, lxl<1, lyl<1
dx- du- z

t1=O , lxl= 1, lyl= t

by frnite element method (use the three
node triangular element).

(c) Use finite element method to solve the
boundary value problem

y2u = -!, lxl< 1, lyl< 1

duI* 1¿ = Q , lxl= 1, lgl= 1
dx

with h = !.
2
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